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EJERCICIO  1 

Dado los vectores en R3: 
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EJERCICIO  2 

Dado los vectores en R3: 

U=2i-j+k  y v=-3i+j+k 

 

Uxv= 

 

 
 

-1 1 
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1 1 i - -3 1 j + -3 1 k 
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-5 2 i - 3 2 j + 3 -5 k 
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2 -1 1 

   

-3 1 1 

𝑝
  

𝑞
  

  −4  2 −  −5  −1  i   7  2 −  3  −1  j   7  −5 −  3  −4  k 

 −8 − 5 i  14 + 3 i  −35 + 12 k 

-13-17j-23k 

𝑢
  

𝑣
  

  −1  1 −  1  1  i -   2  1 −  −3  −2  j+   2  1 −  −3  −1  k 

 −1 − 1 i  2 −  −3  j+  2 −  3  k 

-2i-5j-k 
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EJERCICIO  3 

 

 

EJERCICIO  4 

                        Dado los vectores en R3 a=i+3j-2k y b –i+5k 
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1 3 -2 = 0 5 i - -1 5 j + -1 0 k 
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6 0 -2 = 8 0 i - 0 0 j + 0 8 k 
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  0  0 −  8  −2  i -   6  0 −  0  −2  j+   6  8 −  0  0  k 

 0 + 16 i-  0 j+  48 + 0 k 

16i+48k 

𝑎
  

𝑏
  

  3  5 −  0  −2  i -   1  5 −  −1  −2  j+   1  0 −  −1  3  k 

 15 + 0 i-  5 − 2 i+  0 −  −3  k 

15i-3j+3k 

𝑎
  

𝑏
  


